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Homework:

Examples: f(x) = 2x+4and g(x) = —3x—1
Find:(f + 9)(x) = f(g) + f(x) Find: (f +g) (3)
AXHY + —&x-|

F4+a)00) = ~x+2
QAX-2Xx +4-| (Hg)(@ = ~“D4D
=X 43 = 0

Find: (f—g)(x)

Find: (f —g)(5)
XYY = (~3X-1) (F-9)() = BXx4s

Ax+d +3X +| [L-g)(@: B(o)+S
AX+BXAY 4| o R
X 5

¥ B



Find: ( b
,?C)D i a><+jf)( )

A(x) = B(axsd)
= (X +1 Y

Find: (37)(3)
(A0 = X+ Y
(35)3) =)+

=8+l
=50

Find: (3g)(x)

80 = ~2x-|
(39)KX) = 3 (-3x-1)
= -9 -3

Find: (39)(5)

(33)00 = - Qqx-3
(39)(5) = -q(5)-3
= -45,5
= <4g



